Домашнее задание для 5д класса
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BrinonHuTe yKkasaHHbIe AelicTBua (Ne 1122—1134).
1122. a)0,25:4 + 15,3 : 5+ 12,4 :8 + 0,15 : 30;
0) 96,7 : 10 + 0,045 : 5 + 140,4 : 12 + 1,53 : 15;
B) 4,912 : 16 + (18,305 : 7 + 0,0368 : 4);
r) 72,492 : 12 + 78,156 : 36 — 120,03 : 15.

1123. a) 15,2: 1,9 + 0,51 : 0,17 + 0,48 : 0,08;
0)5:4-4:5+0,5:0,4-0,4:0,5;
B) 1,98:0,11 + 0,68 : 0,17 + 7,8 : 1,3;
r)3,41:1,1 + 2,04 : 1,7+ 1,488 : 1,24.

1124. a) (15 : 1,2) - (7: 1,4) = (1 : 2,5) - (3 : 1,2);
6) (1:1,6) - (26 :5,2) + (18 : 3,6) - (2 : 0,25);
B) 0,063 : 0,09 + 0,0408 : 0,017 + 0,00027 : 0,015;
r) 0,1 : 0,002 — (7,91 : 0,565 — 11,1 : 1,48).




